
 

NP had no fast algorithm 3 SAT coloring TSP

Undecidable no algorithm at all

DEFEY FLY Postcorrespondence
Problem

1717 110011100

f No solution answer FALSE

I shortest solution has length 75

7 22 11 34 17

FRA.FI La 135722721 undecidable



Formally TuringMachine

Informally Python
Code exec tablecode machine

Description source

Descriptions are intertke byte

M machine M description
exec code Cpi Python source
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Y halfcept

N halfect
a loop hang

input Σ
Accept in Exe M accepts

aIges REJECT M rejects

SELFRESET.CH I Toesmngectffs
Suppose program SR decides SELF REJECT

ACCEPT SR SELFREJECT
REJECT SR Σ SELFREJECT

Hang SR

ForallmachinesM
SR accepts M M rejects LMS
SR rejects M M doesnotreject M

In particular SR accepts SR SR rejects LSD
SR rejectsCSID SR doesnotreject CSI



Diagonalizations

Non presidents Club can't exist
because every club needs a predsident


